

On the Solvability in a Closed Form of a Class of Singular Integral Equations

Nguyen Van Mau and Nguyen Minh Tuan

*Hanoi University of Science,
334 Nguyen Trai, Thanh Xuan, Hanoi, Vietnam*

Received June 4, 2001

Revised October 3, 2002

Abstract. This paper deals with the solvability of singular integral equations of the form

$$\sum_{k=1}^n a_k(t)\varphi(\epsilon_k t) + \sum_{k=1}^n \frac{1}{\pi i} \int_{\Gamma} \frac{\tau^{n-1-k} t^k}{\tau^n - t^n} m_k(\tau, t) \varphi(\tau) d\tau = f(t), \quad (1)$$

where Γ is the unit circle on the complex plane, $\epsilon_1 = \exp(2\pi i/n)$, $\epsilon_k = \epsilon_1^k$. We indicate that the equation (1) is exactly a singular integral equation of Cauchy type with a certain shift. The method in this paper is to reduce the equation (1) to the well-known Riemann boundary value problems and describe solutions in a closed form.

1. Introduction

Let Γ be a closed Liapunov curve on the complex plane \mathbb{C} . It is well-known that the singular integral operator of Cauchy type in spaces $L_p(\Gamma)$, $H^\mu(\Gamma)$ ($0 < \mu < 1$, $1 < p < \infty$)

$$(S\varphi)(t) = \frac{1}{\pi i} \int_{\Gamma} \frac{\varphi(\tau)}{\tau - t} d\tau$$

has the property $S^2 = I$, where I is the identity operator on the spaces above (see [1]). The Noetherian theory of singular integral equations of Cauchy type

$$a\varphi + bS\varphi + K\varphi = f \quad (2)$$

started with the works of Noether and Carleman in 1921, and was later developed by many mathematicians (see [1-3, 6, 9] and the references therein). One

reason for the great interest in this theory is an effective relation between Riemann boundary value problems of analytic functions and equations of the form (2). The operator S plays an important role in the theory of Riemann boundary value problems, since this operator is like simple-layer and double-layer potentials in Neumann and Dirichlet problems. In [4], Mau presented the integral operator

$$(S_{n,k}\varphi)(t) = \frac{1}{\pi i} \int_{\Gamma} \frac{\tau^{n-1-k}t^k}{\tau^n - t^n} \varphi(\tau) d\tau, \quad (3)$$

where n, k are nonnegative integers, $0 \leq k \leq n-1$, Γ the unit circle on the complex plane. Moreover, the author of [4] proved that if $n \neq 1$ then $S_{n,k}^3 = S_{n,k}$ (note that $S_{1,0} \equiv S$) and investigated the equation induced by a certain operator $S_{n,k}$ of the form

$$a(t)\varphi(t) + b(t)(S_{n,k}\varphi)(t) + (N_{n,k}\varphi)(t) = f(t) \quad (4)$$

under the assumption $a(t) \neq 0$ on Γ . In the same way of integral equations of Cauchy type, $(a\varphi + bS_{n,k}\varphi)$ is called the singular part and $N_{n,k}\varphi$ is called the regular part of the equation (4). In [8], the second author studied the solvability of equation (4) in the case when the function $a(t)$ has isolated zero-points on Γ . In [5], we studied the solvability of the equations induced by a class of operators S_{n_j, k_j} of the form

$$a(t)\varphi(t) + \left(\left(\prod_{j=1}^m b_{n_j, k_j}(t) S_{n_j, k_j} \right) \varphi \right)(t) = f(t).$$

In this paper, we deal with the conditions of the solvability in a closed form of the equation (1) by means of Riemann boundary value problems. The method of our investigation is to use basic characterizations of algebraic operators (the Carlemann shift W and the Cauchy singular integral operator S). We divide the space $X = H^\mu(\Gamma)$ into subspaces, and then solve the given equation in a closed form by combining all solutions of a system of equations without shifts.

2. Representation of Equation (1) in the Form of Operator Equation

Let $\Gamma = \{t \in \mathbb{C} : |t| = 1\}$ be the unit circle on the complex plane \mathbb{C} and let $D^+ = \{t \in \mathbb{C} : |t| < 1\}$; $D^- = \{t \in \mathbb{C} : |t| > 1\}$. Consider the following operators in $X := H^\mu(\Gamma)$, $0 < \mu < 1$:

$$\begin{aligned} (S\varphi)(t) &= \frac{1}{\pi i} \int_{\Gamma} \frac{\varphi(\tau)}{\tau - t} d\tau, & (5) \\ (S_k\varphi)(t) &= \frac{1}{\pi i} \int_{\Gamma} \frac{\tau^{n-1-k}t^k}{\tau^n - t^n} \varphi(\tau) d\tau, \\ (M_k\varphi)(t) &= \frac{1}{\pi i} \int_{\Gamma} \frac{\tau^{n-1-k}t^k}{\tau^n - t^n} m_k(\tau, t) \varphi(\tau) d\tau, \\ (W\varphi)(t) &= \varphi(\epsilon_1 t), \quad \epsilon_1 = \exp(2\pi i/n), \end{aligned}$$

where $n, k \in \mathbb{N}, n > 1, 1 \leq k \leq n - 1$ and $m_k(\tau, t)$ are functions satisfying the Holder condition in both variables $(\tau, t) \in \Gamma \times \Gamma$. Write

$$\begin{aligned} P &= \frac{1}{2}(I + S), \quad Q = \frac{1}{2}(I - S), \\ X^+ &= P(X), \quad X^- = Q(X), \quad X_k = P_k(X), \\ P_j &= \frac{1}{n} \sum_{\nu=1}^n \epsilon_j^{n-1-\nu} W^{\nu+1}, \quad j = 1, 2, \dots, n, \end{aligned} \quad (6)$$

where $\epsilon_j = \epsilon_1^j, j \in \mathbb{Z}$. Then we have (see [4, 7])

$$\begin{aligned} I &= P + Q, \quad P^2 = P, \\ Q^2 &= Q, \quad PQ = QP = 0, \\ I &= \sum_{j=1}^n P_j, \quad P_k P_j = \delta_{kj} P_j, \\ W^k &= \sum_{j=1}^n \epsilon_j^k P_j, \quad k = 1, 2, \dots, n, \\ X &= X^+ \oplus X^-, \quad X = \bigoplus_{j=1}^n X_j, \\ SW &= WS, \quad S_k = SP_k = P_k S, \quad WS_k = S_k W, \end{aligned} \quad (7)$$

where δ_{kj} is Kronecker's symbol.

Lemma 1. *Let $m_k(t) := m_k(t, t) \neq 0$ on Γ . Suppose that $m_k(\tau, t)$ are invariant with respect to the rotation operator W , i.e. $m_k(\tau, t) = m_k(\epsilon_1 \tau, t) = m_k(\tau, \epsilon_1 t)$ for $k = 1, 2, \dots, n$. Then*

$$\begin{aligned} N_k P_j &= P_j N_k, \\ M_k &= m_k(S_k + N_k P_k) = m_k(S + N_k) P_k, \end{aligned}$$

where $k, j = 1, 2, \dots, n$, and

$$\begin{aligned} (m_k \varphi)(t) &= m_k(t) \varphi(t), \\ n_k(\tau, t) &= \frac{1}{m_k(t)} \frac{m_k(\tau, t) - m_k(t, t)}{\tau - t}, \\ (N_k \varphi)(t) &= \frac{1}{\pi i} \int_{\Gamma} n_k(\tau, t) \varphi(\tau) d\tau. \end{aligned} \quad (8)$$

Proof. The assumption on $m_k(\tau, t)$ implies equalities

$$\begin{aligned} (W N_k \varphi)(t) &= \frac{1}{\pi i} \int_{\Gamma} n_k(\tau, \epsilon_1 t) \varphi(\tau) d\tau \\ &= \frac{1}{\pi i} \int_{\Gamma} \frac{1}{m_k(t, t)} \frac{m_k(\tau, t) - m_k(t, t)}{\tau - \epsilon_1 t} \varphi(\tau) d\tau \\ &= \frac{1}{\pi i} \int_{\Gamma} n_k(\tau, t) \varphi(\epsilon_1 \tau) d\tau = (N_k W \varphi)(t). \end{aligned}$$

Hence, from (6) it follows that $N_k P_j = P_j N_k$.

The remaining equalities immediately follow from (7) and Lagrange's interpolation formula (see [4]). The lemma is proved. \blacksquare

Now we can represent the equation (1) in the form

$$\sum_{j=1}^n a_j^*(t)(P_j \varphi)(t) + \sum_{j=1}^n m_j(t)((S + N_j)P_j \varphi)(t) = f(t), \quad (9)$$

where

$$a_j^*(t) = \sum_{k=1}^n \epsilon_j^k a_k(t),$$

and S, P_j, N_j are defined by (5), (6) and (8).

3. Reduction of Equation (9) to a System of Singular Integral Equations of Cauchy Type

We recall the following lemmas

Lemma 2. (see [4]) *Let $K(\tau, t)$ be a function satisfying Holder's condition in each variable $\tau, t \in \Gamma$. Let $K(\tau, t)$ admit an analytic continuation onto D^+ in each variable τ, t and let $K(\tau, t)$ be invariant with respect to the rotation operator W , i.e. $K(\tau, t) = K(\epsilon_1 \tau, t) = K(\tau, \epsilon_1 t)$. Suppose that the function $(\tau - t)^{-1}[K(\tau, t) - K(t, t)]$ is continuous in $(\tau, t) \in \Gamma \times \Gamma$. Then*

1. $\Phi^+(t) := \frac{1}{\pi i} \int_{\Gamma} \frac{\tau^{n-1-k} t^k}{\tau^n - t^n} K(\tau, t) \varphi(\tau) d\tau \in X^+$ for every $\varphi \in X$.
2. $\Phi^+(t) \equiv 0$ for every $\varphi \in X^+$.

In the sequel, for every function $a \in X$ we sometimes write $(K_a \varphi)(t) = a(t) \varphi(t)$.

Lemma 3. (see [5]) *Let $a \in X$ be fixed. Then for any $k, j \in \{1, 2, \dots, n\}$ there exists $b \in X$ such that $K_b X \subset X_k$ and $P_k K_a P_j = K_b P_j$.*

Lemma 4. *Let $a \in X$. Then for any $k, j \in \{1, 2, \dots, n\}$ we have*

$$P_k K_{a_{kj}} = K_{a_{kj}} P_j,$$

where $a_{kj}(t)$ are defined as follows

$$a_{kj}(t) = \frac{1}{n} \sum_{\nu=1}^n \epsilon_{\nu+1}^{j-k} a(\epsilon_{\nu+1} t). \quad (10)$$

Proof. It is easy to see (for any ν) that

$$a_{kj}(t) = \frac{1}{n} \sum_{\mu=1}^n \epsilon_{\mu+1}^{j-k} \epsilon_{\nu+1}^{j-k} a(\epsilon_{\nu+1} \epsilon_{\mu+1} t).$$

Hence, for an arbitrary $\varphi \in X$ we have

$$\begin{aligned}
 (P_k K_{a_{kj}} \varphi)(t) &= \frac{1}{n} \sum_{\nu=1}^n \epsilon_k^{n-1-\nu} W^{\nu+1} [a_{kj}(t) \varphi(t)] \\
 &= \left(\frac{1}{n} \sum_{\nu=1}^n \epsilon_k^{n-1-\nu} W^{\nu+1} \right) \left[\left(\frac{1}{n} \sum_{\mu=1}^n \epsilon_{\mu+1}^{j-k} a(\epsilon_{\mu+1} t) \right) \varphi(t) \right] \\
 &= \frac{1}{n} \sum_{\nu=1}^n \left[\frac{1}{n} \sum_{\mu=1}^n \epsilon_{\mu+1}^{j-k} \epsilon_{\nu+1}^{j-k} a(\epsilon_{\nu+1} \epsilon_{\mu+1} t) \right] \epsilon_{\nu+1}^{k-j} \epsilon_k^{n-1-\nu} (W^{\nu+1} \varphi)(t) \\
 &= \frac{1}{n} \sum_{\nu=1}^n a_{kj}(t) \epsilon_{\nu+1}^{k-j} \epsilon_k^{n-1-\nu} W^{\nu+1} \varphi(t) \\
 &= a_{kj}(t) \left(\left[\frac{1}{n} \sum_{\nu=1}^n \epsilon_j^{n-1-\nu} W^{\nu+1} \right] \varphi \right) (t) \\
 &= a_{kj}(t) (P_j \varphi)(t) = (K_{a_{kj}} P_j \varphi)(t),
 \end{aligned}$$

which proves the lemma.

3.1. At first, we deal with the equation (9) in the case $a_k(t) \equiv 0$ on Γ , $k = 1, 2, \dots, n$.

$$\sum_{j=1}^n m_j(t) ((S + N_j) P_j \varphi)(t) = f(t). \quad (11)$$

Theorem 1. Suppose that every $n_j(\tau, t)$ ($j = 1, 2, \dots, n$) admits an analytic continuation onto D^+ in both variables τ, t and $n_j(\tau, t) = n_j(\epsilon_1 \tau, t) = n_j(\tau, \epsilon_1 t)$.

a) If $\varphi \in X$ is a solution of (11) then $(P_1 \varphi, P_2 \varphi, \dots, P_n \varphi)$ is a solution of the following system

$$\sum_{j=1}^n m_{kj}(S + N_j) \varphi_j = P_k f, \quad k = 1, 2, \dots, n \quad (12)$$

where for any $k, j = 1, 2, \dots, n$, the function $m_{kj} := a_{kj}$ is defined as (10) with $a := m_j$; i.e.,

$$m_{kj}(t) = \frac{1}{n} \sum_{\nu=1}^n \epsilon_{\nu+1}^{j-k} m_j(\epsilon_{\nu+1} t).$$

b) If $(\varphi_1, \varphi_2, \dots, \varphi_n)$ is a solution of (12) then

$$\varphi = \sum_{k=1}^n P_k \varphi_k$$

is a solution of (11).

Proof.

a) Let φ be a solution of (11). Applying operators P_k to both sides of equations (11), we get

$$\sum_{j=1}^n P_k [m_j(S + N_j) P_j \varphi] = P_k f, \quad k = 1, 2, \dots, n.$$

According to Lemmas 1, 2, 3, 4, the last system can be written as follows

$$\sum_{j=1}^n m_{kj}(S + N_j)P_j\varphi = P_k f, \quad k = 1, 2, \dots, n.$$

Thus, $(P_1\varphi, P_2\varphi, \dots, P_n\varphi)$ is a solution of (12).

b) Suppose that $(\varphi_1, \varphi_2, \dots, \varphi_n)$ is a solution of (12). Applying operators $P_k, k = 1, 2, \dots, n$, to both sides of equations (12), we get

$$\sum_{j=1}^n P_k [m_{kj}(S + N_j)\varphi_j] = P_k f, \quad k = 1, 2, \dots, n.$$

From Lemmas 1, 4 it follows that

$$\sum_{j=1}^n m_{kj}(S + N_j)P_j\varphi_j = P_k f, \quad k = 1, 2, \dots, n.$$

Hence, we have

$$\begin{aligned} f &= \sum_{k=1}^n P_k f = \sum_{k=1}^n \sum_{j=1}^n m_{kj}(S + N_j)P_j\varphi \\ &= \sum_{k=1}^n \sum_{j=1}^n P_k m_j(S + N_j)P_j\varphi \\ &= \sum_{j=1}^n \left(\sum_{k=1}^n P_k \right) m_j(S + N_j)P_j\varphi \\ &= \sum_{j=1}^n m_j(S + N_j)P_j\varphi. \end{aligned}$$

Thus, $\varphi(t)$ is a solution of (11). The theorem is proved. \blacksquare

Remark. Due to the results of Theorem 1, it is enough to solve system (12) in X instead of solving (11) in X .

Theorem 2. *Let all assumptions of Theorem 1 be satisfied and let*

$$\det M(t) = \det \left[m_{kj}(t) \right]_{k,j=1,\dots,n} \neq 0.$$

Then, for every $f \in X$, the equation (11) has the following unique solution

$$\varphi(t) = \sum_{k=1}^n \sum_{j=1}^n (S + N_k)P_k b_{kj}(t)P_j f, \quad (13)$$

where $b_{kj}(t)$ ($k, j = 1, 2, \dots, n$) are the elements of the inverse matrix $\left[M(t) \right]^{-1}$

Proof. We rewrite system (12) in the following form

$$MK\Phi = F,$$

where

$$\begin{aligned} K &= \left[\delta_{kj}(S + N_j) \right]_{k,j=1,\dots,n}, \\ \Phi &= (\varphi_1, \varphi_2, \dots, \varphi_n)^t \\ F &= (P_1 f, P_2 f, \dots, P_n f)^t. \end{aligned}$$

On the other hand, from the Sokhotski-Plemelij formula, it follows (see [1]) that

$$N_j^2 = 0, \quad N_j P = 0, \quad Q N_j = 0.$$

We then have $N_j S = -N_j$, $S N_j = N_j$. It means that $(S + N_j)^2 = I$, $j = 1, 2, \dots, n$. Hence, K is invertible and $K^{-1} = K$. Thus, we obtain $\Phi = K M^{-1} F$, i.e.

$$\varphi_k = \sum_{j=1}^n (S + N_k)(b_{kj} P_j f).$$

Using Theorem 1, we conclude that every solution of (11) is of the form (13). The proof is complete.

3.2. We now deal with equation (9) without the assumption $a_j(t) \equiv 0$ on Γ , $j = 1, \dots, n$.

$$\sum_{j=1}^n a_j^*(t)(P_j \varphi)(t) + \sum_{j=1}^n m_j(t)((S + N_j)P_j \varphi)(t) = f(t). \quad (14)$$

In a way similar to the proof of Theorem 1, we can prove easily the following theorem:

Theorem 3. Let $n_j(\tau, t)$ ($j = 1, 2, \dots, n$) admit an analytic continuation onto D^+ in both variables. Suppose that $n_j(\epsilon_1 \tau, t) = n_j(\tau, \epsilon_1 t) = n_j(\tau, t)$.

a) If $\varphi \in X$ is a solution of (14) then $(P_1 \varphi, P_2 \varphi, \dots, P_n \varphi)$ is a solution of the following system

$$\sum_{j=1}^n \left[a_{kj}^* + m_{kj}(S + N_j) \right] \varphi_j = P_k f, \quad k = 1, 2, \dots, n, \quad (15)$$

where

$$\begin{aligned} a_{kj}^*(t) &= \frac{1}{n} \sum_{\nu=1}^n \epsilon_{\nu+1}^{j-k} a_j^*(\epsilon_{\nu+1} t), \\ m_{kj}(t) &= \frac{1}{n} \sum_{\nu=1}^n \epsilon_{\nu+1}^{j-k} m_j(\epsilon_{\nu+1} t). \end{aligned}$$

b) If $(\varphi_1, \varphi_2, \dots, \varphi_n)$ is a solution of (15) then

$$\varphi = \sum_{j=1}^n P_j \varphi_j$$

is a solution of (14).

Write

$$\begin{aligned}\Phi &= (\varphi_1, \varphi_2, \dots, \varphi_n)^t, \\ F &= (P_1 f, P_2 f, \dots, P_n f)^t, \\ A(t) &= [a_{kj}^*(t)]_{k,j=1,\dots,n}, \\ B(t) &= [m_{kj}(t)]_{k,j=1,\dots,n}, \\ L(\tau, t) &= [m_{kj}(t)n_j(\tau, t)]_{k,j=1,\dots,n},\end{aligned}$$

and

$$\begin{aligned}L &= [m_{kj}N_j]_{k,j=1,\dots,n}, \\ S &= [\delta_{kj}S]_{k,j=1,\dots,n}\end{aligned}$$

as function-matrices and operator-matrices respectively. Then the system (15) can be written in the form

$$A(t)\Phi(t) + B(t)(S\Phi(t)) + L\Phi(t) = F(t). \quad (16)$$

Denote by $\mathcal{H}(D^+, D^+)$ the set of all two-variable functions $l(z, w)$ admitting an analytic continuation onto D^+ in each variable and satisfying the following condition

$$l(\epsilon_1 \tau, t) = l(\tau, \epsilon_1 t) = l(\tau, t) \quad \text{on } \Gamma \times \Gamma.$$

Denote by $\mathcal{H}_{n \times n}(D^+, D^+)$ the set of all function-matrices of order $n \times n$ whose elements belong to $\mathcal{H}(D^+, D^+)$.

Theorem 4. *Suppose that matrices $D_{\pm}(t) = A(t) \pm B(t)$ are invertible and*

$$[A(t) \pm B(t)]^{-1} L(\tau, t) \in \mathcal{H}_{n \times n}(D^+, D^+).$$

Then the system (16) can be represented in the following form

$$(AI + BS)(I + M)\Phi = F, \quad (17)$$

where M is an integral operator with the kernel

$$\frac{1}{2\pi i} M(\tau, t) = [A(t) + B(t)]^{-1} L(\tau, t). \quad (18)$$

Proof. According to the assumption and Lemma 2, we get $SM = M$. Hence

$$(AI + BS)(I + M) = AI + BS + L.$$

The proof is complete.

Now we can present the solvability in a closed form of the equation (9) by the following theorem

Theorem 5. *Suppose that all assumptions of Theorem 4 are satisfied. Then the equation (9) has solutions if and only if the corresponding Riemann boundary value problem*

$$(AI + BS)\Phi = F \quad (19)$$

has a solution. If that is the case, the equation (9) can be solved in a closed form by means of Riemann boundary value problems.

Proof. From Lemma 2, it follows that $(I - M)(I + M) = I$. This means that the operator $(I + M)$ is invertible. Hence, the sufficient and necessary condition is proved. The solvability in a closed form follows immediately from Theorem 3, representation (16) and the theory of the Riemann boundary value problems (see [1, 9]).

Acknowledgements. The second author would like to thank ICTP for the invitation and hospitality, to acknowledge the considerable help of Ms. Sharon Laurenti and Professor Aderemi Kuku of the Mathematics section, and Ms. Patrizia Zaccaria of the Associate and Federation Office during his stay in Trieste.

References

1. F. D. Gakhov, *Boundary Value Problems*, Oxford, 1966, (3rd ed., Nauka, Moscow, 1977 (Russian)).
2. G. S. Litvinchuk, *Boundary Value Problems and Singular Integral Equations with Shift*, Nauka, Moscow, 1977 (Russian).
3. Ng. V. Mau, On solution of system of singular integral equations with analytic kernels and reflection, *Annales Polonici Mathematici* LII (1990) 103–108.
4. Ng. V. Mau, On solvability in closed form of the class of singular integral equations, *Diff. Equations*, USSR **25** (1989) 307–311.
5. Ng. V. Mau, Ng. M. Tuan, On solutions of integral equations with analytic kernels and rotations, *Annales Polonici Mathematici* **LXIII** (1996) 293–300.
6. N. I. Muskhelishvili, *Singular Integral Equations*, Nauka, Moscow, 1968 (Russian).
7. D. Przeworska-Rolewicz, *Equations with Transformed Arguments, An Algebraic Approach*, Elsevier Scientific Publishing, Amsterdam and PWN, Warszawa, 1973.
8. Ng. M. Tuan, On a class of singular integral equations with a rotation and a coefficient vanishing on a curve, *Acta Math. Vietnam.* **21** (1996) 201–211.
9. N. P. Vekya, *Systems of Singular Integral Equations*, Nauka, Moscow, 1970 (Russian).